
Table S2. Linkage disequilibrium 
 

Chr BP SNP Chr BP SNP R2 D’ 
12 47844974 rs731236 12 47845054 rs7975232 0.545082 0.959 
12 47844974 rs731236 12 47846052 rs1544410 0.615164 0.907 
12 47845054 rs7975232 12 47846052 rs1544410 0.445594 0.828 
12 57764205 rs4646536 12 57768115 rs3782130 0.850829 0.933 
12 57764205 rs4646536 12 57768302 rs10877012 0.815743 0.925 
12 57764205 rs4646536 12 57768956 rs703842 0.729635 0.883 
12 57768115 rs3782130 12 57768302 rs10877012 0.783361 0.901 
12 57768115 rs3782130 12 57768956 rs703842 0.68475 0.844 
12 57768302 rs10877012 12 57768956 rs703842 0.621515 0.827 
Chr: Chromosome; BP: Physical position (base-pair) 

 


